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WEST BENGAL STATE UNIVERSITY 

B.A. Honours Part-III Examination, 2020  

PHILOSOPHY 
PAPER-PHIA-V 

Time Allotted: 2 Hours Full Marks: 50 

The figures in the margin indicate full marks. pািnক সীমার মধ°s সংখ°ািট পূণ�মান িনেদ�শ কের।  
Candidates should answer in their own words পরীkাথ�ীরা িনেজর ভাষায় যথা সmব শbসীমার মেধ° 
and adhere to the word limit as practicable. উtর কিরেব। 

All symbols are of usual significance. 

Answer Question No. 1 and any two questions from the rest 
১নং pű এবং অন° �য-�কােনা dিট  pেűর উtর দাও 

1. Answer any four questions from the following within 150 words each: 
িনmিলিখত �য-�কােনা চারিট  pেűর উtর দাও pিতিট  ১৫০ শেbর মেধয্ঃ 

5×4 = 20

(a) Define and explain kārya after Tarkasaṁgraha.
তকর্সংgহ অনুসরেণ কােযর্র লkণ দাও এবং বয্াখয্া কেরা। 

(b) Explain the significance of the qualification ‘ananyathāsiddhatva’ in the 
definition of kāraṇa. 
কারেণর লkেণ ‘অননয্থািসdt’ িবেশষেণর pেয়াজন বয্াখয্া কেরা। 

(c) Explain with reference to the context, sāmānyalakṣaṇā pratyāsatti after 
Annaṁbhaṭṭa. 
pসñ উেlখপূবর্ক অnম ্ ভĄেক অনুসরণ কের সামানয্লkণা pতয্াসিt বয্াখয্া কেরা। 

(d) Explain after Annaṁbhaṭṭa the nature of asamavāyi kāraṇa with illustration. 
অnম ্ ভĄ অনুসরেণ দৃŶাnসহ অসমবািয় কারেণর pkিত বয্াখয্া কেরা। 

(e) Explain the different ways of Śaktigraha as mentioned in Tarkasaṁgraha. 
শিkgেহর িবিভn উপায়gিল তকর্সংgহ অনুসরেণ বয্াখয্া কেরা। 

(f) What is gauṇivṛtti? Does Annaṁbhaṭṭa accept it as a separate kind of vṛtti? 
�গৗণীবৃিt কােক বেল ? অnম ্ ভĄ িক �গৗণীবৃিtেক পৃথক বৃিt rেপ sীকার কেরন ? 

(g) Distinguish between vedic vākya and laukika vākya. 
�বিদক বাকয্ ও �লৗিকক বােকয্র মেধয্ পাথর্কয্ িনrপণ কেরা। 

(h) Explain and illustrate satpratipakṣa hetvābhāsa.
উদাহরণসহ সৎpিতপk �হtাভাস বয্াখয্া কেরা। 

(i) 
 
Give the definition of upamiti. Distinguish between upamiti and upamāna after 
Annaṁbhaṭṭa. 
উপিমিতর লkণ দাও। অnম ্ ভĄ অনুসরেণ উপিমিত ও উপমােনর পাথর্কয্ িনrপণ কেরা। 
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(j) What sort of cause is admissible in the case of dhvaṁsa (destructional absence)? 
Justify your answer.   
Ƥংেসর �কান pকার কারণ সmব ? উtেরর সপেk যুিk দাও। 

  
2.  (a) Explain the definition of smṛti after Tarkasaṁgraha.

তকর্সংgেহ pদt sৃিতর লkণ বয্াখয্া কেরা। 
10+2+3

(b) Which kind of smṛti is called veridical by Annaṁbhaṭṭa?
অnম ্ ভĄ �কান pকার sৃিতেক যথাথর্ বেলেছন ? 

(c) Can veridical memory be regarded as pramā? Give reasons for your answer. 
যথাথর্ sৃিত িক pমা ? উtেরর সপেk যুিk দাও। 

  
3.  (a) Explain the meaning of the statement ‘tadbhinnam jñānam anubhavaḥ’ in the 

light of Dīpikā. 
‘তিdnং jানমনুভবঃ’- দীিপকা অনুসরেণ এই বাকয্িটর অথর্ িনrপণ কেরা। 

2+5+8

(b) Explain the definition of yathārtha anubhava.
যথাথর্ অনুভেবর লkণ বয্াখয্া কেরা। 

(c) How does Annaṁbhaṭṭa meet the fallacy of avyāpti against this definition in the 
case ‘ghate ghatatvam’? 
‘ঘেট ঘটtম ্  ’ sেল িকভােব অnম ্ ভĄ এই লkেণর অবয্ািp বারণ কেরেছন, আেলাচনা কেরা। 

  
4.  (a) What is vikalpa? 

িবকl কােক বেল ? 
1+8+4+2

(b) Discuss nirvikalpaka and savikalpaka pratyakṣa following Tarkasaṁgraha and 
Dīpikā. 
তকর্সংgহ ও দীিপকা অনুসরেণ িনিবর্কlক ও সিবকlক pতয্k আেলাচনা কেরা। 

(c) How does Annaṁbhaṭṭa answer the following question - ‘nirvikalpake kiṁ 
pramāṇam’? Discuss. 
‘িনিবর্কlেক িকং pমাণম ্  ’ —  অnম ্ ভĄ িকভােব এই pেűর সমাধান কেরেছন ?  

(d) Is nirvikalpaka perception a pramā?
িনিবর্কlক pতয্k িক pমা ? 

  
5.  (a) Why Annaṁbhaṭṭa has introduced the notion of pakṣatā in the definition of 

anumiti? 
অnম ্ ভĄ অনুিমিতর লkেণ পkতার আেলাচনা কেরেছন �কন ? 

3+8+4

(b) What is pakṣatā? 
পkতা কােক বেল ? 

(c) Show how the discussion of pratibandhaka and uttejaka is relevant in this context. 
এই pসেñ pিতবnক ও উেtজেকর আেলাচনা করা হেয়েছ �কন, তা বয্াখয্া কেরা। 

  
6.  (a) Discuss the definition of vyāpti as given in Tarkasaṁgraha.  

তকর্সংgহ অবলmেন বয্ািpর লkণ আেলাচনা কেরা। 
3+4+8

(b) How does the author analyze the definition in Dīpikā? 
দীিপকা টীকায় এই লkেণর িকভােব িবেųষণ করা হেয়েছ ? 
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(c) How is vyāpti known? 
বয্ািpgহ িকভােব হয় ? 

  
7.  (a) Explain with an example the kevalavyātireki liṅga. 

�কবলবয্িতেরিক িলñ দৃŶাnসহ বয্াখয্া কেরা। 
7+8

(b) How is kevalavyātireki liṅga distinguished from kevalānvayi and anvayavyatireki 
liṅga? 
�কবলবয্িতেরিক িলñেক �কবলাnিয় িলñ ও অnয়বয্িতেরিক িলñ �থেক িকভােব পৃথক করা যায় ? 

  
8.  (a) What is lakṣaṇā?  

লkণা কােক বেল ? 
4+8+3 

(b) Give an exposition of the three kinds of lakṣaṇā after Annaṁbhaṭṭa.
অnম ্ ভĄ অনুসরেণ িতন pকার লkণার পিরচয় দাও।  

(c) In this context, explain after Annaṁbhaṭṭa when the multiple signifying power 
(nānā śakti) of a word is taken? 
এই pসেñ কখন একিট পেদর নানা শিk কlনা করা হয়, তা অnম ্ ভĄ অনুসরেণ বয্াখয্া কেরা। 

  
9.   Write short notes on any two of the following: 

(a) Jātiśaktivāda and its refutation (b) Pakṣata (c) Different types of cause 
(d) Different types of laukika Sannikarṣa. 
সংিkp টীকা �লেখাঃ (�য-�কােনা dিট ) 
(ক) জািতশিkবাদ ও তার খčন  (খ) পkতা  (গ) কারেণর িবিভn pকার  (ঘ) িবিভn pকার �লৗিকক 
সিnকষর্। 

7 2
1 +7 2

1

  
10. Point out sādhya, pakṣa and hetu of the following anumānas and mention why 

they are faulty: (Any three)  
িনmিলিখত অনুিমিতgিলর সাধয্, পk ও �হt িনেদর্শ কেরা এবং �হtিট �কন dŶ তা বয্াখয্া কেরাঃ 
(�য-�কােনা িতনিট )  

5×3 = 15

(a) Saṁyoga is non-eternal because it possesses saṁyogatva. 
সংেযাগ অিনতয্, �যেহt এেত সংেযাগt আেছ। 

(b) Sound is non-eternal, because it is namable, e.g. red colour. 
শb অিনতয্, �যেহt তা অিভেধয়, �যমন – রিkম বণর্। 

(c) Sugar is saline, because it is a product. 
িচিন লবণাk, �যেহt এিট একিট উৎপn dবয্। 

(d) A dyad is eternal, because it has a cause. 
dয্ণুক িনতয্ �যেহt এর কারণ আেছ। 

(e) Sky-lotus is fragrant, because it exists in Ākāśa. 
আকাশkসুেম গn আেছ, �যেহt তা আকােশ থােক । 

 
——×—— 

 


